ved 1(H) [3 3jel]

sdl 12 2 H? sdl AIHi quidI udlsi-] 21€] ci-ial.

¥dIGL:

Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

N
I

el 12 i AHENReMH] AIEsA 23211d © B UlBUIHI U2IdiA] 14 [Fela [Giga] golid ©.

sl 12 udlsi4 2cia:

Udls

HSISIR
doili

gl

2Mid? ugrsiel
gd

dl2

\

Yy [Gigil:

414 Guaiol

2[Md YIRCH/d
IESEY wlsa1/2101d2]
[Qer 21Rd [Aded]
g4Yy2/x162y2 s21 ddi/A1ud]
Sdse? 12114 sisal
sdl dIg- (€l

o [Aosyid 2iId: WiAM difIs Alfssd] ealid

o YIIdi €2 WIIMI: S[Ms AHIU214] Sdi

o [Aefa ddi: dl21 21d] 2iviiAi el

3
|

d

42 gls: "sal 1z UiAM 22w [dasyrd] gaiid"

ved 1(cl) [4 d1ei]

for qu HI2 ¢s] Hig duil.

¥dIGL:

for gu Python Hi [Risa- (list, tuple, string, range) ug iterate s2d1 412 U2 .

For qu 26id:

€2s

Haeyd
2
A€l

2221

[2i2sa Gelerel

for variable in sequence: for i in range(5):
range(start, stop, step) range(1l, 10, 2)
for item in list: for x in [1,2,3]:
for char in string: for ¢ in "hello":
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A sis Gelsel:

for i in range(3):
print(i)
# Beye: 0, 1, 2

Yy dgiel:
o i2ilRs iteration: ¥yuid s1G22-] %32 2l
o [Jisu-d 2192id: siduul iterable »icws2 2112 S1H 52

o 3% §Sed: 462 [Asu- y0d1a] GidId

42l gls: "For gua [Risa-=i iterate s2"

yed 1(s) [7 1]
[Goii1s] sieild nH] 24 Yeil e2riaal HI2 vis WiAH @uil AT Y232 gIRI N AU BHId S,

¥dIGi:

(Scii1s] sieil wi2au:

# Y uiiell 21fHl vl d
n = int(input("2widl dwil gud sA: "))

# YaM o 2ri initialize S2
a, b=0, 1

# Yoy 2d e2iidi
if n >= 1:

print(a, end=" ")

# ofly 2H celid
if n >= 2:

print(b, end=" ")

# olislHl 2wf %42 s

for i in range(2, n):
c=a+b
print(c, end=" ")

a, b =Db, c

AIIRaH sdi:

213
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o
Sl
0 N2 s2i
8
1 M= s2
gu i=2 2l n-
c=a+
Al
_ -
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C i< el

a=b,b=

Ud

Yua si-ded:

~

o [AsdlRAd d22ld: €25 24 = viovd] 6f 241 d=a10
o dR3cid 241 a, b d@ys viaRsIRS 2d VHuS2 52
o Y52 gy2: SiA-fis iell d-2

Hu2l 2ls: "[sGiiIs]: viodl 6f 4612l GHRI"

yed 1(s OR) [7 djei]

1 2/l 100 24¢il41 ODD 612l (i s2al HI2 sdi Al €2l

¥dIGi:

1 2il 100 ODD -Gi2i HI2 SEivI2:

No.
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213

i<=1007?

Hd

él

!

4l i N2 s2

¥i42ilis Python sis:

for i in range(l, 101):
if i 8 2 !=0:

print(i, end=" ")
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dsfcais ugld:

for i in range(l, 101, 2):

print(i, end=" ")
Yy dcdi:
e quS2id:i 12100 ¥yl
o [duy as:i% 2!=0 21d
o Y YHUIRI: HIP1d] 4612 U HIRAI

q4u2l 2ls: "[Auy HoiRl: 2 2l ¢i19d 1 is]”

yed 2(H) [3 d1el]
612 UlG-giH © § 4] d 2Aidal 412 YiA1Y @vil.
SdIGI:

Uld-siu As viAun:

# d6iR gy
num = int(input("-6R €ud Sz "))
temp = num

reverse = 0

# oA Rudf s?i

while temp > 0:
reverse = reverse * 10 + temp % 10
temp = temp // 10

# UldgH As s2
if num == reverse:

print (f" {num} RES é")
else:

print (f" {num} yla-iu ﬂépw

AUPIRYH 26id:

waig Jliv2ld Gelsrel (121)

1 ocdl vis Hadi 121%10=1

2 Rai i1 0*10+1=1

3 Ocdl vis €2 S 121//10=12

4 0 el YAiddH WESTIICENT)
Yo [Gigail:
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o [S[¥2 disegseld: Hisdl (%) AIU2R dluR]
o Raai [Gifesa1: 10 2l ojenl s?l [5f32 Gzl

c
o ruiMeill: Y ciRiciR Ry

Hu2 gls: "Uld-giH 241010 Ul 1Y didiy"

yed 2(cl) [4 2]
Python Mi2A1fFH21-] [Geivdii 244l

¥AdIGi:

Python [deidiiq 26ia:

(GeindI qeid
0 [F2s Algl, gid] 21s12 ddi sis
g22Mues swygdalddl %32 42l
HiFS2-AHI[RA2S SAIY A4 AHI6FS2 AUl
Hiud Ay a4l HI2 s

N\ N\ N C AY
sid-wdesii yl@ud 0S U2 dId
Hi2l digaizlAl @Ius [Giez-g Hise

YU SIRAEIAI

[R1vi1G-[F21: 2luid i A4 AHSUIMI 10

gA219d: doi Sadur-2, Al, S21 1y

\

siRyfdd] auid: Hial Saduz siyfHe]

sid4fis 219021 dRAcid 219y [SsARel] %32 -2l

443l gls: "Python: a2, 2ifsdriiull, dislbia il

yed 2(s) [7 1]

Python vi1u-] Gildis 2gsuy2 AuAdl.
SdIG:

Python Wi2AIH 22sUR:

#1/usr/bin/env python3
# Shebang dig4 (dslas)

sisyH-22l4 (@221 (docstring)
WiaMAl &g deld &

No. 7/ 31

SI”AEI

syl Sagur-2
#sul 2222

sis [Ry3(cif@?l
dlgalo1 size -eil
ilys suil2[ci(d2]

Ay sIaiHdl



Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

# Import eeH-23
import math

from datetime import date

# odidd dRAcc
PI = 3.14159

count = 0

# sseid S[s[de1-
def calculate area(radius):
"rradodl abisn Sesyde st

return PI * radius * radius

# sdld slsf[Hei
class Calculator:
def _ init_(self):
self.result = 0

# WY YIAM S35yl

if name == "_ main_ ":
# UiAM dilks 218
radius = 5

area = calculate area(radius)

print (£"&bisn: {area}")

W SAR SWI42A 26id:

sWlide2 éq
Shebang [ReeH g:uie?
Docstring WIAIH SisyH-22l
Imports GlIgl HISYERA
dRAcic ddicid S2I 221R%
$S01-¥ Yd:quRiel SIS 6ais
sa il V052 2ndy
He odis UM i53532I4
Yy [Rigidi:

Gelseel

#!/usr/bin/env python3
RN STITCTE R

import math

PI = 3.14159

def function name():

class ClassName:

if name == "_ main ":

o gS22H: SIS oISy RIUAIRId 52 (4 201d 2H1usil)

N

o SIHRA: [RdId digH HI2 #, Hle-dlgd Hi2 " "

o HIJAIR2: 50l 214 scliMi ss 2lisd

42l Zls: "agsuR: g, [SsigH, vilsssye”
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yed 2(4 OR) [3 de]

([Fo14 Ru s2dl 412 MIAIH duil.

¥YdIGL:

(321 Raida vi2n¥:

# Ugld 1:

dg@ar gzl

string = input("[@d €vd Ss:A: ")

reversed_string

= string[::-1]

print(£" Raai: {reversed string}")

# Ugld 2:

qu gl

string = input("[@3 €vd S:A: ")

reversed_string =

nn

for char in string:

reversed string = char + reversed string

print(f"QQﬁ: {reversed_string}")

Radid ugldiid 26i@:

ugld
A9l
qu

([Gic-gH

Yy sl

[R2sH
string[::-1]
$3522 gl2l $3522 Gi-1d

.join(reversed(string))

o 2dIgMRAI: A2l AHAS12S Ugld

o SS2d2I4:; 52522 glRl S2522 [2221 G-I

o geS[sA21: (2201 Uif321 AsA™ S2

H4u3l 2ls: "[Rual: dedl 3522 usdl”

yed 2(6i OR) [4 de]

dif¥sd diu22id Geleel A1 A4Mdl.

¥AdIGi:

Python dif¥sd iiud2ai:

No. 9/ 31

Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

Gelseel
"hello" — "olleh"
€25 char AP0 GY2I

Rud [isu- sl



Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

AHiy22? Riciid qeid Gels2el uRenx
AND and Gid 21d] A1l True and False False
OR or IS A1) AS 212d ARl True or False True

NOT not 21d | faglg not True False

Gelsrel sis:

# AND U222
if a > 5 and b < 10:
print ("Gid 2lRdi dRll")

# OR uliuz2R
if a > 15 or b < 10:
print ("M Gl As 2ud AwRI")

# NOT ¥Hiu22
if not (a < 5):
print("a 5 sdi -id 4ail")

24 26id:
A B Aand B AorB not A
T T T T F
T F F T F
F T F T T
F F F F T
Yy GuidIl:

o %2d 21Rdi: 6ig[dy As SoilgH s
o [Aely ddi: viuH sdi S2id s2i
o off@ad dil¥s: True/False vzl

H4u3l 2ls: "AND cig14] %32, OR vis] %32, NOT Gdaid"

yed 2(s OR) [7 3jel]

Python i [cfde $21 usiRi Aundi

¥AdIGi:
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Python S21 219 adils2el:

Python S2i 21w

/

A

I

IS [Risa- S|CEE! Je [Ssel-3]
int float complex str list tuple
S21 219 261d:
219y Gelsel qeid Mutable
int 42 Yyl 2iuIAI I
float 3.14 g21i2l AuAIRAI Al
str "hello" 252 S2| Al
list [1,2,3] sHilSd dvus Sl
tuple (1,2,3) sHi(Sd AHuRad-la 4l
dict {"a":1} sl-de&y wislAl Sl
bool True/False of(ca- deyas I
set {1,2,3} Y[ds dcdl Sl
Gelsel sis:
# AWIHS 219w
age = 25 # int
price = 99.99 # float
complex num = 3+4j # complex
# [Risud 219wy
name = "Python" # string
numbers = [1,2,3,4] # list
coordinates = (10,20) # tuple
# AU 21y
is_active = True # boolean
unique items = {1,2,3} # set
student = {"name":"John", "age":20} # dict

Yy dgiell:
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o siA4dfis 21921 dRAcd 219y [Ssd2 s2d14] %32 H2il
[4 . \ [4 \

o 218U SeU3d: JRi0Id 21 dR 542 S

o [Gice-g §Sel-a: A[SoI HI2 type(), isinstance()

443l 2ls: "Python 2igw: Hoia, [Risafla, sdsel"

yed 3(H) [3 d1el]

Python Hi sdi 52id 2] ©? Gelczel A1 A4

$dIGi:

sdl 52id 21Rd] 24 qu 2251 Il WiAM 222H-22] A (535214 HIS2 HA% 52 ©.

sdi 52id UsRiq 26id:
USIR 242 éq Gelezel
[@isdl1ud AIHI= AS35%Y 2l dlg 61 dlgH print("Hello")
[Ridsel if, elif, else [Hela dal if x > 0:
Iteration for, while YRIddH for i in range(5):
Jump break, continue qu s2id break

Gelsrel sis:

# [Jdsed Gelsael

age = 18

if age >= 18:
print("yud")

else:
print("Glids")

# Iteration GBels:el
for i in range(3):
print (£ ol@idl: {i}")
Yy sl
o 2Rdl AlSssYRIA: 211 AHIEIR SIS UId
o qu 22su: SIS odlisat YrRudd
o MIAM sdl: 2ilS35214 Ui S2id

42 gls: "sdl sgid: [Ael, Y4Ridd-, Jump"

yed 3(6l) [4 d1el]

d4e2s if 22242 Ul HI2 HIAIH VI,
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¥dIGi:

qd22s If 22242 Hi2AIH:

# dRs if diuld s sesydeld
marks = int(input(”ﬂ%ﬁ € S2: "))

if marks >= 0 and marks <= 100:
if marks >= 90:
grade = "A+"
elif marks >= 80:
if marks >= 85:
grade = "A"
else:
grade = "B+"
elif marks >= 70:
grade = "B"
elif marks >= 60:
grade = "C"
else:
grade = "F"
print(f"ﬁs: {grade}")
else:
print ("uHAY HisA")

422S QSAUR SIARIIM:

marks gd4Yz

|
Y/
|0<=marks<=100|

L_____r____J

True | False
[ I 1
| | |
Y |  — A—
|marks>=90| | | AHYIY |
I
— |
| |
A+| Y
| ...
| I

Yy daleli:
o cigldd adzl: if 22242 viez if 222
o %2d 21Rdi: cig[dy HiuEs] &-5d s

o dif¥sd 2sA: [Heiy gafi 2lisdl

442 2ls: "qees If: [Aeiuiql ig2 [Heii”
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yed 3(s) [7 dJel]

Arguments ¥4 Parameters -l USRI AH¥ddI HI2 S YIAIH Uil

¥AdIGi:

Arguments 14 Parameters I UsIRi:

# 1. uil3214Hd Arguments

def greet(name,

age):

print (£"3dl {name}, dHI3 GH2 {age} 9y ©")

greet ("wi4", 25)

# uil3214d arguments

# 2. slas Arguments
greet(age=30, name="aﬂaa”) # slas arguments

# 3. [Ssi@ Parameters

def introduce(name, city="uH%¥CI"):

print(f"{name} {city} yi 28 é")

introduce("olici") # [Ssice d&) dIuR
introduce("sRAd", "Had") # [Ssice dHidR?Ags

# 4. dﬁaMG—QQJArguments (*args)

def sum _all(*numbers):

return sum(numbers)

result =

sum _all(l, 2, 3, 4, 5)

print (£"d24I0i: {result}")

# 5. slas dRcid Arguments (**kwargs)
def display info(**info):

for key, value in info.items():

print (f"{key}: {valuel}")

display_info(name="§@$", age=28, city="0ﬂe24")

Parameters usiRiq 26id:

UsR
yil3eld
slas
[Ssice
*args

**kwargs

Ri2sa Geleel qeid

def func(a, b): func(l, 2) $YH HScH]

def func(a, b): func(b=2, a=1) 414 1[Js1gs
def func(a, b=10): func(5) [Ssice d&y

def func(*args): func(1,2,3) dRcid vil3sel4d
def func(**kwargs): func(a=1, b=2) dRAcid slas
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Yy siiea:
o ddrilsdl: S21 uid s2di4l [aldy 2di
AY [4
® SH Hécd: Yil3214d vs slds

o dRaAcid arguments: 110Gl VA1 4y &-5d S

4u? gls: "Parameters: uil33ei-, slas, [Ssica, dRAcc"

yed 3(4 OR) [3 jel]
break ¥i4 continue statement 4 Gels2e1 A1 yHAdI.
FUdIGI:

Break ¥4 Continue 222H-231:

Break 2224-2:

# Break Gelezel - gudiall oler lsai
for i in range(10):
if i ==
break
print(i)
# ¥Geye: 0, 1, 2, 3, 4

Continue 222%-2;

# Continue Gelé20l - iteration IS
for i in range(5):
if i ==
continue
print(i)
# Geye: 0, 1, 3, 4

Auell 26id:

R2H2 &q (51

break guHiall cleRR lsul 2iyYel gy AHNd 52

continue iteration &is| HI2Idl iteration U SA
Yyl dsladi:

e Break: guniall 2iypl cieiR lsa
e Continue: i3 ddHi- iteration ©IS
o sdl 52Id: (U vilSo35el- HAx 52

H4u3l 2ls: "Break clelR Hlsv), Continue 1s"

No. 15/ 31

Gelsel GuAidl
212d U2 HeIR Hlsai

Ai[Rifgs deys ois]



Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

yed 3(Gi OR) [4 del]

dlRil Uz €21igdl HI2 2is YIAIH Gi-Id]

12
123
1234
12345

¥dIGL:

AGI2 Yad MiauM:

# ugld 1: d42s gwi a4
rows = 5
for i in range(l, rows + 1):
for j in range(l, i + 1):
print(j, end="")
print() # Adl dig4

# ugld 2: (221 Hldwyded gl
for i in range(l, 6):
line = ""
for j in range(l, i + 1):
line += str(j)

print(line)

# Ugld 3: join diudld

for i in range(l, 6):

numbers = [str(j) for j in range(l, i + 1)]
print("".join(numbers))
U2 dil¥s 26id:
ufsd dotaf e HIGaye2
1 1 12l 1 1
2 1,2 122 12
3 1,2,3 1213 123
4 1,2,3,4 1214 1234
5 1,2,3,4,5 125 12345
Yyl si-iea:
o d2s quai: Gligl ulsdl Hi2, iead]l doif Hi2
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o 3% §S2d: 4612 [Asu-y ¥-2 52

o [ S$2id: 4d] dig4] 21091 HI2 end="" 41U

J442 2ls: "Ua: Ulsd 46iR sidd s1G-2 4ss] 52"

yed 3(s OR) [7 d]el]

€35 HI2 sis @vild 141 2nfCilds sii auadi: 1. abs() 2. max() 3. pow() 4. sum()

¥dIGL:

Python i anfeilds §sel-:

# 1. abs() - RN d
numbers = [-5, 3.7, -10.2, 0]
print("abs() $sSeld4 Gels2el:")
for num in numbers:

print(f"abs({num}) = {abs(num)}")

# 2. max() - HeuM d&y

listl = [4, 7, 2, 9, 1]

print (£"\nmax() $seld @aeemirw
print(f"max({listl}) = {max(listl)}")
print(f"max (10, 25, 5) = {max(10, 25, 5)}")

print(f"max('hello') = {max('hello')}") # qRMINl UHIE]

# 3. pow() - UldR $seld
print (£"\npow() $sel4 Gelgeli:")
print(f"pow(2, 3) = {pow(2, 3)}") # 273 = 8

print(f"pow(5, 2) = {pow(5, 2)}") # 572 = 25
print(f"pow(8, 1/3) = {pow(8, 1/3)}") # 8 Al & Yy

# 4. sum() - AdIN] §SeIH
numbers = [1, 2, 3, 4, 5]
print (£"\nsum() $Seld @aee@iﬂw

print (f"sum({numbers}) = {sum(numbers)}")

print (f"sum({numbers}, 10) = {sum(numbers, 10)}")

§sel- AIRi2l 26id:

§seld Ri2s éq

abs() abs (x) VoI dey
max() max(iterable) HédPlng
pow() pow (%, ¥) x4yl uige
sum() sum(iterable) SICIEETEIECTION

AY

Yy GuidIi:
e abs(): ¥idz 2101d3], B2 &-sldo
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e max(): HédH 2Ned, UeiH1 uRRIM
e pow(): dstifds 21e1d?], Usdlg i

e sum(): d 2leId3], AHissielal

42 gls: "Math $sel-: GAIRJR, HedH, UldR, 244101

Med 4(21) [3 1el]
Variables i scope 2u1di.
SdIGi:

dRAGIA 251U A YiAMHI d U2l dce] AU & Ui dRAcid visd s3] s,

251y UsRiq 26ia:

siy geid Pd-sin

disd §sel4] e §sel- (5352l
sdicid gselHi4] clelR WIAIH A (52354214
[Gice-g Python slasa Python 24

Gelsrel sis:

x = 10 # sdicid dlRIcid

def my function():
y = 20 # disd dRcid
print(f"c-l\lsc-l yv: {y}")
print (£"odicid x: {x}")

my_ function()
print (£"°dIdd x: {x}")
# print(y) # ¥i: y 3idl vAsalFoia el

Yy [HaHi:

o disd dRAGIEA: $Seli-] HER GHHIdIY
o diGId dRAGICH: 14 YIAIHHI Vs JHd

e LEGB [4au: Local — Enclosing — Global — Built-in

Hu2l 2ls: "2siu: disd $SeldHi 28, 2dicid Gig 23"

yed 4(61) [4 3]
4225 LOOP 4 46ii [S21d s2dl HI2 Mi2AIH Sddu s2.

¥dIGi:
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422s qu WiAM:

# GelsRel 1: 46 [3s
print("-oik [is Ued:")
for i in range(l, 4):
for j in range(l, 5):
print (£"{i}{j}", end=" ")
print() # €5 ulsd ugl 4dl digH

# GeleRRl 2: dRISR 26id
print ("\ndRlSR 26Gid:")
for i in range(l, 4):
for j in range(l, 6):
result = i * j
print (f"{result:3}", end=" ")
print()

# Gergrel 3: 46 [Gaifds
print ("\ndciR [aif¥s:")
for i in range(l, 5):
for j in range(l, i + 1):
print(j, end=" ")
print()

422S GU SUR

Gligl gu (i)

viesdl qu (9)

| ——
|3=1,2,3,4]

Yy si-iea:
o GIIE qu: Ulsdui/u iterations s2id s2
o ie3dl gu: sidri/4II iterations S2id s2

o ilSassYRId Sdi: vied Yol 211y ussl Giigl ggl

Hu2l gls: "des quai: olig vies-ld sgld s2"
yed 4(s) [7 3ei]

No. 19/ 31



Python Programming (4311601) - Winter 2023 Solution (Gujarati) by Milav Dabgar

1 2l 50 ] 2«¥Hi ODD 44 EVEN Gi2id] LIST Gididdi H12 Mi2AIH Gvil.
*dIGi:

ODD ¥4 EVEN -iciaf vi2iu:

# ugld 1: Qi 14 2rRdl diuld
odd_numbers = []

even_numbers = []

for i in range(l, 51):
if i & 2 ==
even_numbers.append (i)
else:

odd_numbers.append (i)

print("fdyy ol (1-50):")
print (odd_numbers)
print(f"aumdﬂ: {len(odd_numbers)}")

print ("\n¥M doidd (1-50):")
print(even_ numbers)

print (£"2l0ld?]: {len(even numbers)}")

# ugld 2: [dze suild=4 qzld

odd list = [i for i in range(l, 51) if i & 2 != 0]

even list = [i for i in range(l, 51) if i & 2 == 0]

print (£'\nfdwH ([de2 swildeiH): {odd list[:10]}...") # YaM 10
print (£"aM ([Ge2 suilé-eld): {even 1list[:10]}...") # UM 10

# ugld 3: 22u g 2= g
odd_range = list(range(l, 51, 2)) # 23 1, 24 2
even_range = list(range(2, 51, 2)) # 23 2, 22U 2

print (£"\nfdw4 (% Ugld): {odd range[:10]}...")
print (£"3H (@% ugﬁ): {even_range[:10]}...")

4612 goils2el 26id:

USIR 2lRd % 1-10 s1G-2 (1-50)
(ayy ng2 =0 1,3,5,7,9 25
44 n % 2 == 2,4,6,8,10 25

Yy ds-lsi:

o HisRJdl AIURR22: ciIs]H] As Hi2 ¢
o (@22 suilé-uA: 2ifgiwd [dee 2%

o 2% §SeId: [JsU-Y 2HUSIRS 3d ¥H22 52
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q442l 2ls: "[Gyy/aM: 2 20 @193 6iis] 1/0"

yed 4(4 OR) [3 21e1]

(221 2c1g([d14 GElgRel A1 AuAdl.

SdIGI:

(3221 2a1g(@Ad1 [start:stop:step] [[A-25¥ AU 222141 121 ¥is22S2 S2 O,

219191 Ri2sy 26id:

Ri2sy qeid Gelsel uReny
s[start:stop] start 2/l stop-1 ¢l "hello"[1:4] "ell"
s[start:] start &/ ¥id ﬁ:l,ﬁﬂ "hello"[2:] "llo"
s[:stop] 213A1d2ll stop-1 el "hello"[:3] "hel"
s[::step] £25 step Ses22 "hello"[::2] "hlo"
S[::-1] 221 Raf "hello"[::-1] "olleh"

Gelsrel sis:

text = "Python Programming"

# Hood alglJol

print (£"UeMd 6 ¥&Ri: {text[:6]}") # "Python"
print (£"9cdl 11 JH&Ri: {text[7:]}") # "Programming"
print (£"H&I HPI: {text[2:8]}") # "thon P"

# Ryu gl
print (£"€2 2% »&iR: {text[::2]}") # "Pto rgamn"

# oIy g-s[sIol

print (£"ocdl AHaiR: {text[-1]}") # "g"
print(f"réCIHc: {text[::-1]}") # "gnimmargorP nohtyP"
Yy daieli:

o H)Ri-6ias g-5sA21: 0 2l 213
o A2y gs(53491: Ad2il 21e1d3] (-1)

o AuRad-la: yo [R221 uRdldd

Hu2l 2ls: "adigA; 213, Giy, 224"

yed 4(ci OR) [4 d)el]

AN 4vAI1 §s2iRad 2ligdl 412 user defined function 41 Guid1 s34 YiAIH @vil.
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¥dIGi:

\

§seiRad §seld vi2Am1M:

def factorial(n):
"rrRseld quld sseilRud Sesyde sttt

if n == 0 or n == 1:
return 1
else:
return n * factorial(n - 1)

def factorial iterative(n):
"trgy diudld sseilfud Sesyde sttt
result = 1
for i in range(l, n + 1):
result *= i

return result

# Yud UIAM
number = int(input("dwil €ud SR "))
if number < 0:
print ("49i2g duaAl 42 ssRifRad @uwifRid H2il")
else:
resultl = factorial (number)
result2 = factorial iterative(number)
print (f£" {number} - $s2iRyd = {resultl}")

\ \

$seilRad 26id:

n sseilRad sleidzl

0 1 Gios 5

1 1 Gi%s S

3 6 3x2x1

5 120 5x4x3x2x1

Yy si-iea:
o [3seld: $seid Uidid sid s2
e 6% 5 [Rs[Jly sica 6ig 52
o Ys2-[S519-5: 5224 §5014 A%

44l gls: "$s2ilfud: 1341 cigl -oiRi 2Ll s2A"

yed 4(s OR) [7 d)ei]

AN 222141 461 [2291 ¢1%2 © § SH d dulaidl HI12 user defined function dvil.
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¥dIGL:

AGIRR1 As §selA:

def find substring(main_string, sub string):
"rryu [l A6iReA1 wRd As sttt
if sub_string in main_string:
index = main_string.find(sub_string)
return True, index
else:

return False, -1

def count substring(main string, sub_string):
"M AGRRAIA] oAl d1eit

return main_string.count(sub_string)

def find all positions(main_string, sub_string):
mrryeifealdl adl el engt
positions = []
start = 0
while True:
pos = main_string.find(sub_string, start)
if pos == -1:
break
positions.append (pos)
start = pos + 1

return positions

# Yud UIAM
text = input("yud (321 €vid s2A: ")
search = input("2l€dl HI2 AGi[Rdl €vd S2A: ")

found, position = find substring(text, search)

if found:
print (£"26iR221 ' {search}' Uil32l4 {position} U2 H®|")
count = count_substring(text, search)
all pos = find all positions(text, search)
print(£"§d ©2dil: {count}")
print (£"ci¢ll vif321: {all pos}")

else:
print (£"6iR221 ' {search}' Hw] eil")

[R2a1 Hasd 26id:
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\

Has éq Gelezel ulReny
£ind() yay yif3ei4 2lig "hello".find("11") 2
count () gl 141 210 "hello".count("1") 2
in X[y Us s2 "11" in "hello" True
index () yif33214 21i€l (4 HA di 42R) "hello".index("e") 1

Yy @giel:

o ciglda ugldii: 2iigqi- Gy 2di
o Vil3s21d 2[831: HOd AGi[R2214] I-55 Ud S2
o iR2 &5l Yidldl uddi As s2

H4u2l 2ls: "uaix2o0: 2y, Hag, 21el, vif33el4"

yed 5() [3 del]
Gelsel A12 List Sdl 2d cidiadl 244 visaiA s2dl d A4wdl.
SdIGI:
(G2 A% i visdiA:
# [d=z2 oidigd]
empty list = []
numbers = [1, 2, 3, 4, 5]

mixed = [1, "hello", 3.14, True]
nested = [[1, 2], [3, 41, [5, 6]]

# dcdl AsA™ sl

print (f"Y2H dcd: {numbers[0]}") # 1
print(f"E\9C(:J; dcd: {numbers[-1]1}") # 5
print(£"dIgd: {numbers[1l:4]}") # [2, 3, 4]

(G2 visda ugldii:

ugld RiRsy Gelerel uReny
gSs list[i] [1,2,3101] 2
49124 list[-i] [1,2,31[-1] 3
A1 list[start:stop] [1,2,3,41[1:3] [2,3]

Yy dgiell:
o sHilSd dAe: diHl vilBe ©

o uRdddeild: 2%+ ugsl yaid eisiy
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o [isiusi: [d[dy S21 21ghaid] Hogl

42l 2ls: "[deea: Giid], g-Ss, visdia"

yed 5(cl) [4 d1el]
LIST u2 s3] aIsia ddl simaill-] A1€] ciidl. s (@224 6il) [@2ui cidiadl 244 sl s2d1 HI2 WiAIH |l

¥dIGi:

(G2 viiudal-a 4 siul via1H:

# qa [dee
original = [1, 2, 3, 4, 5]
print (£"{® ([Gra: {original}")

# sil s2didl ugldl
shallow _copy = original.copy()
slice_copy = original[:]

list copy = list(original)

# 4o [dre yuRl

original.append(6)

print (f"append usSl: {original}")
print (£"2idi siil: {shallow copy}")

# [dee wHiuel yeei
numbers = [10, 20, 30]

numbers.append (40) # id GH2l

numbers.insert(1l, 15) # VifBed u2 g s?
numbers.remove (20) # %ﬁ@l@% C\IC-% & =
popped = numbers.pop() # Eb((j; € s2l yd s?i

(G2 vHiu21- 26id:

vl das Gelerel uReny

GHRI append () [1,2].append(3) [1,2,3]

e insert() [1,3].insert(1,2) [1,2,3]

€ SRl remove () [1,2,3].remove(2) [1,3]

uly pop () [1,2,3].pop() [1,2]
Yy si-iea:

e 2idi siul: 2HI4 dcdl 12 2ad> [dre
o Slu shl: d22s 2252 HI2 ¥332)

o ciglda ugldii: siil seaidl (Afdy aslsi
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443 Zls: "[dire 2AuRelt: GHRI, g-12, €2 s2l, Uiy, shil"

yed 5(s) [7 ]
LIST -l (dfdg (Gice-g4 methods 1 [ Gi-1dl 24 GuidI 2lid]

¥dIGL:

[Gice-g (G2 Has:

# A4dl [dee yeeld Hi2
fruits = ['apple', 'banana', 'cherry', 'apple']
numbers = [3, 1, 4, 1, 5, 9, 2]

# YLl HaASH

fruits.append( 'date') # ¥id GH2l
fruits.insert(1l, 'avocado') # gSSYH U g2 SR
fruits.remove( 'apple') # YWY occurrence & s?l
last fruit = fruits.pop() # ©cd €2 s3] ud s
fruits.clear() # oldl dcdl €2 S?

# elig A dreldd] Hasy

fruits = ['apple', 'banana', 'apple', 'cherry']
count = fruits.count('apple') # occurrences 2IClIl
index = fruits.index('banana') # Uy ¢SSy 2l

# Ao w4 RalId

numbers.sort() # in place i s
numbers.reverse() # in place Raa sai
sorted copy = sorted(fruits) # Aies sl ud s?l
# S22

more_ fruits = ['grape', 'orange']
fruits.extend(more fruits) # G-Igﬁl&l vigary GHRl

(@2 HasA ARial:
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s20121 yas &g

GHR append (x) Ad vIgeH GHR
GH2l insert (i,x) Yil3eld U2 g s
GHR extend(list) clgldy AHigry GHR]
£2 S remove (x) YAH X €2 SR

£2 S pop (i) g5 UR €2 2

£2 S clear() oig €2 2

2lig index (x) yif3ei4 eligl

2l count (x) occurrences 21l
Hie sort () in place ié s
Aie reverse() sY4 Gd21d]

siul copy () 2idl sivl

gellfs Gels2el:

# 2lifdo1 s1g Gersael

cart = []

cart.append('€d")
cart.extend(['®s', 'dsI', 'HiuERI'])
print (£"sI24i dagii: {len(cart)}")

if '€Y' in cart:
cart.remove('g€d")
print("gd siHial g2 sd")

cart.sort()
print (£"¥ies slé: {cart}")
Yy GuldIi:
o S21 Hd¥HR: vHIgr GHR], €2 SR, 2lisd
o 2lig dHluel-A: dcdi 1€ 44 21l
o AilZd1: 214 sHHi 21isd]

Hu3 gls: "fdee Heisai: GHRl, g2 s, 2lidl, 112, sTl"

yed 5(1 OR) [3 2fel]

Gele2el YA string 4 5d 2d create i traverse s2dl d 24di.

¥YAdIGL:
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(3201 A% 24 2ludd:

# 3221 d¥4 ugld

stringl = "Hello World" # SGid sled
string2 = 'Python Programming' # [@a1d §@H
string3 = """Hl@-dIg

@221 Gelsaw""" # [2ud sie

# @21 2193id ugldAi
text = "Python"

# ugld 1: for gu duiA
for char in text:
print(char, end=" ")

print ()

# ugld 2: 55y gzl
for i in range(len(text)):
print (£"{text[i]} =SS {i} WR")

# Ugld 3: enumerate dluzld

for index, char in enumerate(text):

print(f"gésa {index}: {char}")

219¥id ugldaiid 21d:

ugld Ri2s Guaidl 5

SIS for char in string: A€l 52522 VisAY

gSsY for i in range(len(s)): yif3eld Hifdd] sig

Enumerate for i, char in enumerate(s): IS5 A S5 Gid
Yy si-iea:

o uRddH-la: 203 cied] 2isid] -2l
e Iterable: S3s2aiHi qu s?l sl

o gS(53001: cafsadid S2seaf visdia 53 elsiy
q4u2 2ls: "[Rzoa: GiHidl, gu, AsAY"
yed 5(ci OR) [4 OiEI]
(3221 u2 s3l 21siA ddl siHil3l4l A1€l cididi. siguel 2 si2il2] HI2 sis dvii

¥YAdIGL:

(321 vHiu2l-A:

# (21 Hiu2id GerseN
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text = "Python Programming"

# iueld 1: (231 s-S2d21d A4 sl

first name = "esid "
last _name = "sit
full name = first name + " " + last name

formatted = f"-ﬂ-l%d\, {full name}!"

print (£"ss242I4: {full name}")
print (f" si(2o1: {formatted}")

# Viueid 2: [RPd1 Sy 5954 4 [Ral3d)
sentence = "python programming Hodiell ailwin
title case = sentence.title()

upper_case = sentence.upper()

words = sentence.split()

print(f"2lged Sa: {title case}")

print (£"JxHU S¥: {upper_case}")

print (£"(&d2 2i6€l: {words}")

(221 vHivel- 26id:

520131 vl Gelerel uReny

Fisiel sS52-2l "Hello" + " World" "Hello World"
=t upper () "hello".upper() "HELLO"

Sy lower () "HELLO" . lower () "hello"

Sy title() "hello world".title() "Hello World"
Qe split() "a,b,c".split(",") ['a''b','c']
Rud replace() "hello".replace("1","x") "hexxo"

E= strip() " hello ".strip() "hello"

2lig find() "hello".find("e") 1

Yy daleli:
o uRdd-la: vHiu2l2 4d] 2224 Ud s2
o Has Y21 6ig[dy VU2l S611gH 52

o ddrils: gl [Gic-g4 Hiuel-d GUuac

Hu32l 2ls: "[2201 AHIuR2l-A: isl, SA, R, 2yl

yed 5(s OR) [7 ]el]

(2211 fAfd (Gice-g4 methods 1 4R ci-1di 214 Guidl aiidl.
FdIGH:

[Gice-g 221 Has:
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# UeRld HI2 AYdl [R221
text = " Python Programming Language

sample = "Hello World Programming"

# 53 5% WS

print(f"yn: '{text}'")

print (f"upper(): {text.upper()}")
print(f"lower(): {text.lower()}")
print(f"title(): {text.title()}")
print(f"capitalize(): {text.capitalize()}")

print (f"swapcase(): {'Hello'.swapcase()}")

# cslgeud Haus

print(f"strip(): '{text.strip()}'")
print(f"lstrip(): '{text.lstrip()}'")
print(f"rstrip(): '{text.rstrip()}'")

# olg ¥4 AUs HausH

print(f"find('Python'): {text.find('Python')}")
print(f"count('o'): {sample.count('o')}")
print(f"startswith(' Py'): {text.startswith(' Py')}")
print(f"endswith('ge '): {text.endswith('ge ')}")

# 53522 219y R[S

test string = "Pythonl23"
print(f"isalpha(): {'Python'.isalpha()}")
print(f"isdigit(): {'123'.isdigit()}")

print(f"isalnum(): {test_string.isalnum()}")

# [Rde w4 g4 Haus

words = sample.split()
joined = "-".join(words)
print(f"split(): {words}")

print(f"join(): {joined}")
# [Rudy Hes

replaced = sample.replace("World", "Universe")

print(f"replace(): {replaced}")

[R2a1 dasy gailswe:
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52218 Hasy &g Gelcrel

Sy upper(), lower(), title(), capitalize() S¥ GiEd] "hello".upper() — "HELLO"
gy strip(), lstrip(), rstrip() éﬁéﬂ%i%é%il " hi ".strip() — "hi"

LN find(), index(), count() S| EESEENT] "hello".find("e") — 1

Js startswith(), endswith() @é3lbk1é&252i "hello".startswith("h") — True
219y As isalpha(), isdigit(), isalnum() $3522 USIR "123".isdigit() — True
[Rg2/sigH split(), join() disi/sisi "a-b".split("-") — ['a''b']
Rudy replace() 252 Gedl] "hi".replace("i","o") — "ho"

didlds Yaddi Gelsvli:

# hgd dld@se4 Gelsel

email = " USERQ@EXAMPLE.COM "
clean email = email.strip().lower()
is_valid = "@" in clean_email and "."
print(f"als &gd: {clean email}")
print(f"a\lw sive: {is_wvalid}")

in clean_email

# 2se2 IRi[@d1 Gelsael

user_input = "python programming"
formatted title = user_input.title()
word_count = len(user_input.split())
print (£"siM2s: {formatted title}")
print (£"el6e dRid: {word count}")

AY

Yy GuldIi:
o 321 sdllFo1: AH1gRSd il £2 52, 5 8ls 52
o 2522 Widilddr: 43, Rda, Rz s
o dfdseld: 201 siH2 v 522 s S
o SiHlo1: [S2d HI2 2522 dIR SR

4u2l Zls: "[R2o1 Hast: s, alls, As, Gedl”
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